AT YRk | QUESTION BOOKLET

e/ Subject: Eeonomies - nmits

Paper—II_
&2 [ Code : 51
qieenT  yeaf &y g /

Number of Pages in Booklet : 64

Downloaded from
NSRRI L E'%W/ - www.rsnotes.com
Number of Questions in Booklet : 150
¥ / Time : 3.00 €2 / Hours YUTia / Maxirfumm, Marks : 300
; T
: INSTRUGTIONS : = : fidyr ¢

1. Answer all questions, = &t

2. All questions carry equal marks. = il ~ ;

3. Only one answer is to be given for each questicn. 2. ™ mﬁ?% o R |

4. If more than one answers are marked, it would & 3, WOF W9 W A 0 & v gy
be treated as wrong answer. o :

5.  Each question has four ahternative respanses : & TN SR e T 7%
merked sevially as 1, 2, 3, 4. You have to darken @ W} ST |
only one circle or bubble indicating the corect . 5. SR S |9 Sofew v R T E, Re
answer on the Answer Sheet using BLUE BALL : ; '
£ i 2t P 1 o

6. 1/3 part of the mark(s) of each question will be 'y & . e
deducted for each wiong answer. (A wrong w,  SUI{-—951% T Y W7 Wz Q0 Q Ko &
one answers (o any qoeston, Lo ) g 6 % T o SO 9 W U3, e
relevant circles or bubbles of any question blank ¢ Wﬁﬂ'ﬂ'{ﬁ ¥ ;‘ %ﬁf %}? e ?&ﬁg
will nat be considered as wrong answer.} - R sut H‘-‘Fl

7. The candidate should ensure thdt\Series Codem 9T 99 B Wi S18wT T Tt T AR SR
st be sama. aher openg ek amen e a 7 UL il S e -
case they are different, a candidate must obisin™ 9% 3 ﬂaqg!m %??‘ i q?f;u?% EC
another question paper‘of the same series, hi SRR L !
Candidate himselfoshall be responsible fory @14 =T 2 o dtas § wev-73 B % drlver am
ensuring this. - = mmmmﬁmmmélma.mu
Mokile Phone or any cther electronic gadget n® R aeeft 3 gy
the examination hall is strictly prohibited. A 8. mmmmwmmmﬁm
candidate found with any of such objectjcnable: : ‘If'kﬂﬂ g ¥ ot fed P Wﬁﬁaﬁiﬂﬁﬁ!

terial with hi ill trictly dealt :

melae:tnamh im/Mber wil IIJ'esnyeaasper: } R 2 o ¥ R ﬂ_k’!’{Tﬁ

9.  Please cireclly fil your Roll Number in OMR, ™  BRIEWY @Y sy
Sheat, & marks will be deducted for filing wrong ® 9, rr arer e ey SO A, TNE I R
or incomplete Roli Number. _ o TG AT | T ot engl e TR WO 9T 5

10. If there is any sort of ambiguity/imistake either w T o WA ¥ ¥ ofa v e ST

of printing or factual nature then out of Hindi =

and English Version of the question, the Engish 10. =R Rl w1 ¥ Rodl wore o A or a0 e

Version will be treated as standard.

|
Warning : If a candidate is found copying or if any m -
unauthorised materlal is found in hisherw YA ¢ B el e ww YT T ¥ A S

possession, FI.R. would be lodged against W
himer in the Folice Staffon and hesshe ®
wauld fable to be prosecuted under Section ™
3 of the R.PE. (Prevention of Unfairmeans} g
Act, 1992, Commission may aiso deberg
him/her permanently from all futurem
examinations of the Commission. u

T Y e 7 A e % R o ool w3
¥ R ®OmR e g ;



1 Which of the following is not a central problem of an economy - v
(1) What to produce ? (2) How to produce ?

(3) Where to produce 2 (4) - For whom to produce ?
.@mﬁwﬁﬁﬂmﬁﬁ%ﬁ?—@ﬁwmﬂﬁ%?

(1) =0 SuRT fea we? @) 8 ST fewr e

@) e T figar wmg? @) Fou¥ R S frar smo?

2 An upward shift of the production possibility curve indicates .:
(1} - Inflation
(2) Employment level beyond full employment
(3) Over production
(4) Economic growth
ST FEIE T B S s Rrad awiar & -
M g whfy
@ T AR Feafm IR w3
() i 3gEw
@) emi¥s Fafs

3 At'the saturation point for commodity X, the marginal utility of X is -

(1) positive (2) negative
(3) Zero ' 4)  maximum
Xm%%qtgﬂag&z%ﬁﬁw Xa@a%%hmawq‘rﬁméﬂﬂ-
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S While drawing an individual's. demand curve for a commo

is not spending his full income

is spending his full income

may or may not be spending his full income

s in equilibrum

AT U o @ @d W Wt e ¥
A T omm @ wd Wy e 3

If a consumer is below the budget line, this implies that he -

R e w9 Yt & A A ¥ A o awd ¥ B o -

m:ﬁu;&mmﬁ@ﬁmlw,z‘rm%mwﬁﬁl
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of the following is not kept_constant ?

(1)
@)
&),
)

Wa@%ﬁm@mﬁﬁmﬁﬁw@ﬁ%ﬁmﬁwﬁﬁﬁmw

Individual's meney ncome
Prices of ‘other commodities
Price ‘0f 'the commodity under consideration

Tastes of the individual

® ek T w1 smr 2
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6  When the demand curve is vertical, it represents -
(1) Unitary elastic demand
2) Perfectly elastic demand
3) Relatively elastic demand

@ Perfectly inelastic demand
WA T v dy ¥ o) W wed -
O % & wwy 5y CIl G

@ e S wn

G) W Heer Gy

(1) fall at ap increasing. rate

(2) rise at 3 deCreasing rate

B) fall at o decreasing rate

(4) rise “at an increasing rate

mmﬁmﬁ?mﬁmmf%ﬁ?w g, a’rwvﬂaﬁsﬂam
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Under perfect competition, the demand curve for a firm
(1) slopes upward to the left

(2) is parallel to x axis

(3) slopes downward to the right

(4)  slopes upward to the right
wwﬁlﬁﬁm%aw,mﬁ%ﬁnwwm'ém%~
(1) =& ok wer gam |

() ¥ o ¥ wEETRR

() @ & P gom

(4) <@ S wer gen

9 Optimum level of output for a perfectly competitive firm is given by the
point where :

(1) MR equals AC

(2) MR equal MC

() MR exceeds MC

€3 MR equals MC and MC is rising

wmﬁﬁ%mwmwﬁﬁwwmw
WE 9 —

(1) MR sUaX € % AC ¥

'e)) Mkwaﬁ’r%Mcas

() MR aftw e/t ¥ MC J

@ MR YR Tl & MC & don MC wodt g & 3
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10 "Economics is on the one side, a study of wealth and on the other an&
more important side, a part of the study of man." Who is the writer of "

the statement ?
(1) Pigou (2) Adam Smith
(3) Marshall _ (4) Robbins

“a&amw@vmwm%ﬁt@ﬂ@?ﬁ-%mﬁmw
¥, 9% W & AT BT UG WM R W WG H qWH @ k7

(1 S (2) usw fAy
(3) Wi (@) U

11 Which of the following statemert is correct ?
(1) Indifference curves are comncave to the origin,

(2) Indifference curveé,carinot be a straight line except when goods are
perfect substitutes.

(3) Indifference“curves can intersect each other.

(4) Indifference curves have posifive slope.

frflen ¥ ¥ s wow @ e
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12 Afall in the price of 2 commodity, holding everything else constanf, results
in and is reforred to as -

(1)  An increase in the quantity demanded
(2} A decrease in the quantity demanded
(3)  An increase in demand

(4) A decrease in demand

waﬁ?aﬁhaﬁw%aﬁ;aﬁaﬁqﬁﬁxﬁwﬁmm
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"Giffin Goods" are a notable éxception to the - | [

(1) Law of diminishing ‘marginal utility 3
Y (2) Law of diminishing returns .

(3) Law of demand l

b

4)  Law of\supply o | }
cy “RifteT g ﬁwﬁ@%&ﬁmmﬁwﬁumﬁﬁeﬁ%?
3 ) mﬁmﬁwﬁﬁmﬁm_

- ) T wRrew @ ﬁﬂ:—'rm\
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14 In response to a change in the price of a commodity, if the quantity
demanded remain unchanged, the coefficient of price elasticity of demand

will be equal to -
(1) zero (2) one
(3) greater than one (4) less than one

w&agﬁﬁmaﬁ%w,mﬁﬁﬂnéwmﬂaﬁhﬁmaﬁw
I B/ hH e —

(1) = . 2) T F T
@) =R § aftw @ = &

15 Which of the following statement“is 'not correct ?

(1) The functional relationship between physical inputs and physical
output of a firm. is, known as production function.

(2) The law of(yariable proportions relates to short run.
(3) Returns, to, scale relates to long run,

(4) Prces of factors enter into the production function.
flaiea & & @var oo wf =& 3o

Q) wﬁ%%m@%w%mwm
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Which cost curve is horizontal straight line parallel to x-axis ?
(1) Total cost (2) Total fixed cost

(3) Total variable cost (4)  Average fixed cost

aﬁwmwkw%w%ﬁmm%@ﬁa@ﬁrmﬁm%?

» gw @ v Rax wm

} | ) P adasha wrm 9 sime R W

|

ri 17  In short run, tc&al fixed cost is equal to total cost when -
(1) Output is zero (2) “Output is increasing
(3) Output is maximum “4)" Output is decreasing

Wmﬁ,gﬁrﬂmmqﬁwmwaﬁ%,ﬁa—
! (1) =T 9= ) ' @) W%W.%l

() ST Siftmnr 2 (4) SO we e )

18  Marginal cost can be calculatgg_ from -
(1) Average fixed cost L () Total fixed cost
3) Total variable cost (4) Overhead expenditure
AT A A T @ s w3
(1) ofww Rax wma & amy (2) P& Rat wrg ¥ =y
3) Wt{ﬁaﬁw&ﬂam%m@) ST |E ¥ Ew
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19 Which of the following is not T shaped curve ?
(1) AVC curve (2) AFC curve

(3) AC curve (4} MC curve
ﬁwﬁ:ﬁ@aﬁ%aﬁww'wa@ﬁrmﬁﬁm?
(1) AVC g% (2) AFC %

) AC =m - @ MC 9%

20 Ina perfectly competitive market, an individyal firm faces such a
demand curve, where -

(1) marginal revenue ig greater-than average revenue
(2) marginal revenye is.less than average revenue
(3) marginal revenue 1s» equal to average revenue

(4) marginal revenue is zero

G) oET o @ W e qmEy -y

@) W o g ¥
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Which of the following is the condition for equilibrium in the

21
for a firm operating under perfect competition ?

(1) MC = MR = AR ang MC is rising
(2) AC = AR - AVC and AC is rising
(3) MR = Ac = AR and AC js rising

M) MC = AC = AVC and MC s rising

short run

wmﬁ@-%mmsﬂawwﬁ%éwwmawﬁaﬁﬁw

4 & o ¥

1) MC==MR=ARQ‘ciMCﬁ‘c§Té’r%I
) AC=AR=AVCQE.‘ACEF§T€{%‘1
3) MR:AC_:ARqa‘Acaa?é’r%t

@ MC = AC = AVC @ MC w5 @& 3

22  In which economic system do we fing "Consumers' sovereignty" ?

(1) Capitalism () Socialism
(3) Mixed Economy F (@) Commum’sm.'

fou onim g ST W aRhE a3
(1) elrarg | @) wnTER

@) i@ arefaraer @) ammER
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23 In which form of market organization, the firm is also the indﬁstry ‘?
(1) Perfect competition (2) Monopoly
(3) Monopolistic competition (4) Oligopoly
TR e & frg @eq & w1 & sgr o 37
(M o s () i
(3) qao‘rfimmmj BIERIRG (4) owRER

24 At i;he shutdown point -
(1) P=AFC 2)) P = AVC
B) TR =TC (@) TR = TFC
SAET §< fdg W -
(1) P = AFC fz) P = AVC

(3) TR = TC | | (4 TR = TFC

25 “When total utility is maximum, marginal utility is -
(1) positive (2) negative
(3) =zero | (4) maximum
W P udiE ofteed O B @ g swditen o & -
(1) e _ 2) HHE

;3) Il 4) efitmean
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The law of equi-marginal utility states that -

(2) Marginal utility of different commodities to a person tends to be equal.
(3) Average utility of different commodities to a person tends to be equal,

(4) Total expenditure on different commodities is equal.

27  Total area under the demand ciirve of a commodity measures -
(1)  Marginal utility et (2) . Average utility
(3) * Total utility o (4)  Consumer's surplus
ﬁﬁfﬁﬂg%ﬁwam%ﬂgﬁwmw%—
(1) d wdfar (2) e Syaife
() W IuFfE () ST B qug
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28 When price elasticity of demand ig greater than unity, MR js -

(1) equal to one (2) positive
" (3) negative 4) zero
ﬁaﬂﬁaﬁaﬁﬁaﬁﬂﬂmﬁ&ﬁﬁﬁi T MR g -
(1) 8 & wmy @) s

©) o @ o

29  Average revenue curve is also known as -

D Indifference curve - (2) Production possibility curve
(3) Demand curve ' (4) “.Supply curve
aﬁaammamaﬁﬁwﬁﬁmmw%mw%?

() T % @) O TNET 9w

3 6 o @ o =

30 In the casé of Giffin Good, the demand curve will be -
(1) horizantal |
(2) “wertical
: (3) downward sloping to the nght

(4)  upward sloping to the right
BT wwgell & waf &, wir 4w a
(1) afhg
) wE

() < &k MY frar gen

(4) T R B oy g
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Domestic product at "Market Price' includes impact of subsidies and indirect
taxes whereas 'Domestic product at factor cost' is free from the impact
of subsidies and indirect taxes." This statement is -

(1) Never true .. (@) Always true
(3) Often true (4) Sometimes true

AR B Y, S W AT § e O sves &3 &
il @ g, m%wmwuﬁgwaﬁwmw
Wﬁ%mﬁmﬁ?ﬁ%l”wmm—

(1) = f 85 o Y (2) wig @& )
3) wm: ¥ ¥ _ 4) T & & %)

32 Disposable personal income is equal to :
(1)  Personal income (;) personal direct taxes
(2) Net National product (-) personal income
(3) Net National product (~) personal income (+) transfer payments

(4) Net National product (-) personal income (-) depreciation
() Fies a@ () éuﬁawma W

2 92 Ty Tur () Yot o

@) Y= W AR () PR o (+) TERRY JEE
@ = T SR () JfEw aw () T o
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33 There is an increase in real national income, when -
(1) Prices of essential goods increase
(2) Savings of the people increase
(3) Supply of money in the ecorionty increases

(4)  Total production in the economy increases
T T o ¥ gfe R ¥, w§ -

() oEawEs Tgel &t S 98 w3

(2) W W T w@ WR ¥

(3) ety § 7o @ Ti’c‘fa?s STl &1

(4) oefeeer ¥ WW@W'%I

34  Circular flow of income for a two sector model shows :
(1) flow of income between household and business sectors.
(2) amount of money held. by household and business sectors.
(3) ~.amount of wealth held by household and business sectors.

(4), “savings made by household and business sectors.
ﬁa%ﬁqﬁwﬁmmm,mmhm%—
() = a9 =IEaiys % 9 o™ B e

() WE M EEyE & BR, W T gar & W
() W T RS W T T G R
4) W WU TR S E o wad)
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Who advocated that 'Bad money drives good money out of circulation ?

* (1) Marshall (2) Gresham
(3) Keynes (4) Friedman
foa i fren f g i ol gw B e ¥ wwe B @I
(1) Tisfer | () Tym
@)y # @) WA

. 36 Which of the following is not a furnction of commercial bank ?
(1) acceptance of deposits
(2) granting of loans
(3) discounting of bills of excharige
(4) issuing of currency notes . -
. Frefifen % & e afias 4% a1 (o w8 37
(1) e EHR F | |

(2) WO WL &HH
() e el & S s
@) =& [ SR &

37 Credit creation leads to -
(1) increase the real wealth of the country.
(2) raise the real national income.
3) increase the supply of money.
(4) decrease outstanding loans.
@ e -
(1) <1 & Il wata & S B
@) T T o X gz wea B
() T W I wemEr ¥
(4) SHET WM B B wE T
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40

credit control ?

(1) Bank rate policy (2)  Open market operations

(3) Variable reserve ratio (4) Margin requirements

ﬁmﬁﬁﬁwmwﬁwwmﬂmaﬂwaﬁ%?
(1) % 7 Ay . @ g IR W R
(3) vﬁaﬁasﬁam‘rerqqm | @) TR &1 Py

In the Government budget, interest Payment is an item of -

(I)  Revenue expenditure (2} (Capitai expenditure.

(3) Plan expenditure (4) "\ Developmental expenditure

W%mﬁ,waﬁm‘mﬁm%~
(1) " =y w5 (ZJ{Eﬂvmmaw_
() Ar”FT @y CORNE £0ci s e \

M) S B i @ A g @ s
) ﬁaﬁ?fﬁﬁwﬁaﬂaw&aﬁms‘n |
®) mﬁﬁ@ﬁmﬁaﬁﬁvaﬁﬁamaﬁvwamax
(4)ﬁwra=rm°rﬁwﬁaﬁamﬁmau |
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42

Chairman of 13t finance commission ig

(1) Vijay Kelkar () €. Rangrajan
(3) Montek Singh Ahluwalia (49 Bimal Jalan
139 R/ o % oegeE |

(1) T Famc @) o v
®) % Rie e ONRC LR

-The best Way 1o achieve economijc growth is to -

(1) reduce taxes (2) save more

() spend more ) consumé_mpre
AU C R S SR

T R @ Gt ¥ iy
® @A g () s 3 g

1) currency held by.the public’

(2)  demand deposifs‘ of the public with commercial banks

('3)' time dgposits of the public with commercial banks

(4) stock of money held by the Government and banks
Y B g O ATl g

(1) /a1 & 9w 1y A

@ %W%wr@gﬁma&ﬁ#w&

3) mﬁ%wwgwﬁmw

) W@H%WT@T@NWW%
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account ?

(1) Trade balance (2) Current account balance

(3) Revenye account balance 4)  Capital account balance
Wﬁ@ﬁ*ﬁ%%ﬁw%mﬁ%ﬁm%?
) =R Hge @ Y R w g

Currentiy Poverty estimates 5 India_are, based on -

(1) Lakdawals methodology (2} Tendulkar methodology

() Rangarajan methodology 4) UNDp methodology
T A wvw ¥ gy ©_ST omenfyr & _

) e qomd oy @) AT wne oy

@) TR (e 97 @) g . é’r.'t?r.wﬁaﬁw

(1) Least developed stateg () Less developed stateg

(3) Relatively developed states (4)  Special category states

(I)Hﬂ%mﬁﬂfﬁﬁw @) # fefm ey
G) gy Py oy (@) R S ¥ g
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The primary and unique function of money is -

(1)  the standard of deferred payments

2) ~a store of value
(3) a medium of exchange

() a medium of transfer of valye

I A wafn o Rftee e 2

() orafm pae & e ) T W g

(3) Frfer & e @) T F e e weny

48  Which one of the following can be regarded as the ‘best available criterion
to measure economic development for developing ‘tountries 7

(1} Economic weifare criterion  (2)  Staridard of living criterion

(3) National income criterion (4)"CPer capita real income criterion

ﬁmﬁa%&ﬁﬁmﬁmﬁmﬁmﬁ%m%ﬁﬁ%&w
%Ws&mﬂmwwm%?

M e wwamr qrme (2) a7 ®X arewe
G) whE smr Hrve | @) wi =fR T e T

49  The National Development Council in its meeting in December 2012

year plan at -
(1) 85% 2 8%
3) 9% @ 92%

W@aﬁ:ﬁmqﬁm%ﬁa@rzolzﬁmﬁlzﬁmﬁqm%
%&aﬁmqkﬂ%m{rﬁaﬁmwﬁmﬁﬁmﬁm%?

(1) 8.5% ) 8%
G 9% (@) 9.29%
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51

et

Which of the following is g statutory body 9
(D Planning Commission

(2) TFinance Commission

(3) National Development Council

4 Planning Commission Committee

(1) - Procurement of g grains

@) Distributior_of)food grains

) Maintenance of food bufiers

() Export of food graing
ﬁw%%ﬁﬁ@rﬁwa%wmmﬁmwmma%w
TE ¥ ?

M) wen A qge

@ @EE w R

G) wm Ty - o T @

() wEFET 5 ﬁufa
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Which of the following public sector enterprise does not have ‘Maharatna'
- status as on December 2013 ?

(1) Bharat Petroleum Corporation Ltd.
(2) Bharat Heavy Electricals Lid.
(3) Coal India Lid.

(4) Oil and Natural Gas Corporation Ltd.

ﬁﬂﬁrﬁgaﬁ%%aﬂﬁwhm%a%m%w‘w’waﬁﬂﬁ
T (R 2013 ww) ?

(D) *Ra 2w fem fufre

@ W’%‘cﬁsﬁﬁfmﬁrﬁ@s

(3) == shear fuips

@ ot s A A ) s

53 Given following figures -
L, 2,5, 10, 100
Which of the foﬂduzing is the best measure of central tendency ?
(1) .Geometric mean (2) Arithmetic mean
(3) Median 4) Mode

ﬁﬂﬁ?ﬁgﬁﬂﬁﬁ&ﬁﬁw—

1, 2, 5, 10, 100
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56,

If the arithmetic mean of the series, 2, 5, X, 7 is 4, the value of X
will be -

1 2 2 3

G) -3 @ ¢

afs gofy, 2, 5, X,_?m'mwmwzt%, WX ® AT e -
(1) 2 2 3

3) -3 ‘ @ 6

Which of the following is a measure of central tendency ?

(1) Standard deviation | (2) Mean deviation
() Correlation (4) Harmonic mean
Pt & & Al e wafn w1 @ g 32
() v s (2) M= Rw
() wEwmY (4) wWow A

T choices involving risk, the consumer maximizes -
(1) Total utility | (2) Marginal utility
(3) Expected utility (4) Al of the above

Waﬁﬁﬁaﬁiﬁ%wﬁ,mﬁwﬁ%ﬁs&aﬁqﬁq
T & ?

(1) 9 I 2 A t-m’rﬁm
(3) wEhiW SwfPmEr (4) Suded T}
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The basic economic problem is related to -

(1) Consumer's choice

(2) Decision making by the Government

(3) Multiplicity of wants and scarcity of resources

(4) Poverty of the masses
mmﬁﬁmwﬁw%mﬁ?ﬁ%—'
) i-rtm’iaafw@r

@) fef @

©) WQWGﬁ.a?fWHﬂTWWE%ﬁ@
) wgEeEsl o TaE @

When a price of Giffin good _falls =
(1) negative income effect 9 weaker than the positive substitution effect.

(2) negative income ‘effect is more powerful than the positive
substitution éffect.

(3) negative, income effect and positive substitution effects are equal.

(4) both income and substitution effects are negative,
W T PR wg @ o A & ag -
(1) mmmwmmﬁwm%:

) mmmwmm%msﬁ%ﬁwﬁ
B ¥

3) Wmmamwmmmwa%%r
@) om 3w R w9 S e oy 3
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39 The Scientific method can begt be defined in economics as -
(1) Use of computer in testing
(2) Performing €xperiments in laboratories

(3) Finding evidence to Support theorieg

60 In a free mérket ccononty, the central problems are soI{red through 7 |
(1) Price systém
(2) Comthand system
(3)  National income system

).\ Fiscal system

0)) mawnﬁﬁ%m
) acn%srmasm
3) T o ROy % 2y

@) wEmT g ¥ E
EA51_A] . 26 [ Cond...
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62

63

(1) Positive (2}  Zero
(3) Negative (4) Infinite
ﬁwﬁr&ﬁa@aﬁﬂimﬁwﬁmmﬁ%ﬁ%H
D) oo @ =

G)  Fers @) oF

The Opportunity cost of ap item is -

(D Money paid () Left out alternatives

(3) Man power - {4) Financial inputs
U 99 @ oRR wrg ¥ -
M) 3o o g @) = T fymey

@) aFE gt ' @ Fré e

Production possibility curve shows the possible level of output. Provided
resources are -

(1) fully employed
(2) put in. their best use
() Both (1) and (2)

(4)  None of the above

2) a%awer%wwa‘rrrﬁmwé‘r
(3) Uq'ﬂ’qaa’l?ﬁ(l)aﬂ'(@)
4 wﬂaa'ffi-‘rﬁz‘ﬁé’r‘
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64  The water diamond paradox was solved with the aid of the concept" 5

(1)  Marginal productivity |
(2) Marginal utility
(3) Marginal revenue

(4) Marginal social benefit _ _
‘Wamﬁ%wﬁﬁm’wwﬁwﬁ@%emwaﬁw
¥ e ? -

() W s

(2) 9 SwifEr

@) s

@ e Gl

65 The condition of consumers-equilibrium in case of two commodities

states that the ratig-of marginal utilities of two commodities shoyld
be equalised to -

(1) The ratio, of ‘total cost of two commodities
(2) The ratio of prices of two commodities
(3), "The ratio of total utilities of two commodities

(4)° The income of the consumer to be spent on two commodities

%wﬁﬁmﬁ,@ﬁwmﬁsﬁ%mﬁa@ﬁﬁm
E@ﬁmﬁﬁmmﬁwﬁ@%ﬁ%wmaﬁ%&? |

(1) a‘ra}gaﬁﬁwwmaam%

) a‘ra%gafr‘ﬁaﬁtra‘f%mgcrmaa

(3) a‘ra?gaﬁﬁgﬁrwa‘rﬁmﬁ%ajm%
@ a‘ra@eﬁwmfs’ﬁaﬁrwsﬁwaﬁaw%
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In a production function, returns to scale are measured by -

(1) o+f 2y o-B

H 8
i)
1

67 The consumer will attain equilibrium when -

!
*
\‘ o MU A o MU _ B
[ MU, " P, MU, P,
MU, P,
3 MU =}3_ o (4) None of the above
¥ g :
®Y SUHEN arq Refy g W HEW T
O TR o ek
MU, P, MU, P,
MUx Px
(3) MUy‘}J; (4) SWe ¥ ¥ o 8
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68  Which of the following statement ig false 7
(1) MU curves cuts x axis

(2) Indifference curves cut each other

(1) Muamx\mfrﬁm%

2) Www@%ﬁm%

3) mw@wwmaﬁﬁzmm%
@ S T R o S frgdaor 3

6%  The negative relationship between which two variables g called

¢)) Unemployment and real GDp

() Exports and GDp
(3)\ Price Ievel and unemployment

(4) Exchange rate and imports

(1) é’ﬁmﬁwaﬁﬁmﬁé’rrﬁ
@ tri For o & @

G) IR ' T Aoy

@ Ffrm = v o
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We measure price on Y axis and Quantity on
X axis (see figure). When price is B, the tota] revenue as per
will be

figure given
wis|  \D
B C
A D
G .
D
0 F E
X - axis
b (1) FCDE (2)\.. ADEQ
il
' (3) AGFO (4) BCFO

anqﬁw%;mYMswmﬁammewwﬁ%%‘l
(Fm 3®) aR fom B 2.

%%memm?

Y D
axs
B [s
A D
G
}D
o F E
X - axis
(1) FCDE (@) ADEOo
(3) AGFQ {(4) BCFO
EASI_A] 31
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71  When a good has. no substitutes, the demand curve for that good is
_(I) Vertlcal to Y ax:s _
| .(2) Honzontal to X axis
(3)  Straight line falling from Y axis to X axig

(4) A curve convex to origin

w%ﬁa@ﬁﬁémﬁa@?aﬁwwwmaﬁm—

(1) Yaxlsasmaq

(2) Xaxisasataaq

3) Yewaﬁxma-aﬁaﬁw'ﬁﬂ?ﬁg%m
@) T &g ok weie o

72 In India national Is estimated by -
(I Planning  Commission

(2) Indian Statistical Institute

(3) Centtal “Statistical Organization

(D National Sample Survey Organization
W ¥ U ey AINT BT @y o
() A e

@) ArEE wifesy I

(3) =i witem e

@) o Ars e e
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When the total product falls, then
(1) The average product of labour ig zero

(2)  The marginal product of labour is zero

(4} The average product of laboyr s rising
P IO frar & oqt

M) = w1 ahwd e I T

@) ™ T I s I s &

SRR I TI T — EIG I

e

“@ m?ﬁaﬂmwm%

() Complements
(2) Normal 2oods
(3)  Substitutes

(4) Unrelated goods

EASI_A] 33

74 Ifafall in price of a commodity X causes a rise j

(3) The marginal product of laboyr is negative
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75 Total production wil] be maximum when X

76

77

(1)  Margina product is maximym
(2) Average product is maximum
(3) Average product is zero

(4)  Marginal product is zero

©) ofwa samT g 3
@ dr SaRe T3 ¥

In relation to cost functions, which of the following statements is not true ?
(1) AFC is rectangular hyperhole

@) AC aurve is U shaped

3) MC curve rises mére sharply after attaining its minimym

€] MC never cuts AC ‘curve at it minimum fevel
Wm%ﬁaﬁﬁﬂqmmwaﬁwﬁ% ?

() AFC simmer onibe % w7 3 |

@ ACHH U bR %1 dry 3

(1) Production method (2) Income method

3) Bbth above _ (4} None of the two
Wﬁ?@uﬂm%%%@ﬂ#%ﬁ%&%ﬁﬁﬁ%?
() SR T iy @ o fafy |

() I Y @) & ¥ S T
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In the circular flow Di

agram shown below, which arrow shows the flow
of factors of production ?
y Goods Market €

Factor Market '

M A @) B
3) cC 4 D
m%wm%ﬁw%m&aﬁaﬁﬁmﬁrm%mﬂi
m#ﬂ?«'ﬁhw%? 5
< WW__': ‘: A ;
- b

AT SrT

) D
i
M A 2 B
B c 4 D
EAS1_A] 35
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79  Which of the following statements is not true about perfect competition‘?.__
(1) Large number of buyers and seflers
(2) Homogeneous products
(3) Finn is a price makelf
(4) Perfect knowledge
wmﬁm%mﬁﬁwﬁéﬂ?mmwaﬁﬁ%?
(1) el aom Rebarei o ELLGI]

80  The short run supply curve of 3 pertectly competitive firm ig given by
the rising portion of which, curve 9

(1) MC curve Over.and above the AV(C curve
(2) MC cupye over and above the break even point

(3) Me “irve over and above the AC curve

(4) “MC curve

) Mcammasmrrﬁwﬂ@aﬁg@rm%
(3) McamwraawmrrﬁAc?rw%

@) MC %
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Which of the following has genera) acceptability ?

(1) Bank drafi (2) Money
(3) Bills of exchange (9 Debit card
T 4 fou wdfmem wg ¥ |

0 ¥ g @

3) ffmr i @ e C25)

T e R L B LS e e e ol

82  When was Reserve Bank of India nationalised ?

(1) 1959 - @) 1947
() 1945 @) 1949
‘Tﬁ?ﬁ? fed & = Wt w gor ar 2
(1) 1959 () 1947
() 1945 () 1949

83  Which of the following would cause an expansion in the circular flow of ;

income ? ﬂ1
(1) Savings () Imports '
(3) Taxes (4) Consumption |
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84  Which of the following statements Is not true ?

(1) Phillips observed negative relationship between unemployment rate
and rate of wage inflation for USA.

(2) Modern Phillips curve substitutes price inflation for wage inflation,
(3) Modern Phillips curve includes expected mﬂatlon

4) Modem Phllips curve includes supply shocks.
P % ¥ B wow gy Y 7

Q) %w%ﬁ.v.aﬁﬁm%ﬁrq%ﬂm#ﬁ@w—{&?ﬁ%a?
%ﬁawﬁmwmﬁaﬁ%’mi

@ 'mgﬁwﬁs%wa#qﬁ@m%%%q-ﬂﬂmaﬁﬁr-aﬁmﬁa
B F

(3) mgﬁaﬁsﬁmammﬁmvﬁﬁraﬁm&mm%:
4) aﬂgﬁmﬁﬁfﬁwwiﬁf%maﬁaﬂﬁaw%l

85 Fiscal Policy refefs to -
(1)  Government spending
(2)"“Taxation
(3) Influencing level of €conomic growth

(4) Al above

Uﬁﬁlﬂw*ﬁﬁriﬁrmﬁﬁf@r%—
1) o

@) wi

3) @nﬁfm%vﬁwﬁam
(4) wWw @
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/86 The Coefficient of Correlation  [ieg betweer

(M) Zero to +; o

@) Zero to (-)1

B (1 to ()1 @ 110 10
T 1o 5y T B oy g

M s F 4 ) | 315# ? (~_)-1
G @13 (+)I. @ 130

87 Economic 8rowth depends on :

(1 Technology growth

2) Productivity growth
() Increase In capita]

(4) “All above
mﬁfmﬂ?@ﬁﬁw%wﬁ%:
(1) iy g @ s fy

| ONL Cf e @ S g

38

(I More unequal

(2)  Less unequal
3) More equal

(4)  None of the above

) elf%mfamﬁm ) B T gy
(3)arf%rq,—wﬁ3’hrr (4)s=r=?f#aﬁ§=f€f
FASI_A]
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96

91

Point of highest Concentration of valyes(is called :

(1)  Harmonic mean (2),_Arithmetic mean
(3) Median 4) Mode

T & et gy o &g wewm &

() oo wy @) =R e
@) woEm () g

Trade in<invisibles refers 1o -
(1) “Unrecorded trade

@)\ “Smuggling

() Trade in military goods

(4) Trade in services

S AT F wmR § Py it ¥
() =@ =R it afififeg it %

2)

) = T@st W =R

@) Wl # wmr
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92 TFisher's Ideal Index Number Formula does not satisfy -

93

94

(1) Time reversal test (2) Factor reversal test

(3) Circular test (4) Unit test
fhyR w1 oesl gEe tre 8 ¥ few wlam @ dgw T s ?
(1) ¥9g IHraal TOE (2) W SopwIal GIES

(3) = e @) s e

Which of the following is not an indicator of physical quality of live index

(PQLD ?

(1) Life expectancy  A2), Tnfant mortality

(3) Per capita income (4) Literacry

freffaflag & ¥ fed ohaw o) wfre omn Frders & gEe T8 A ?
(1) Shas g (2) Ty g

(3) W AfeR ot (4) wEE

National Foods Security Mission does not include the objective of
enhancing production of the following crops :

(1) Rice (2) Wheat
(3) Pulses (4) Bara

wsfiy @ g fem A fr § § few wew B oowwe § gie @ W
g = % ?

(1) =& )
(3) TW (4) FAWG
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95  When was Planning Commission setup ?
(1) 1950 () 1947
(3) 1935 (4) 1937
AT ST B o ot ¥ g
(1) 1950 (2) 1947
() 1935 4 1937
96 Finance Commission g constituted 40 Tndia every -
(1) Two years (2) Four years
(3) Five years 4 six years
Wﬁﬁﬁmwmmw%ﬁmfimvm% ?
(1) 3 a¢ ) T 7§
(3) drad @ w of
97 “The concept of group equilibrium is relateq to -
(1)  Kinked demand curve (2)  Perfect Competition
(3}  Monopolistic competition ® Duopoly
W W B sruren w1 feg Ty §7
() RFHhm gfr o 2) o uRrifay
() R ufiif (4 ewfuar
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98  Name the Joint multi-purpose river valley projects of Mp and Rajasthan

(1) Bhakra Nagal (2)  Chambal

(3) Beas (4) Mahi
qwg&wawwﬁaﬁﬁgaaagaésﬂﬂﬁmﬁﬁmmﬁwﬁ%?
(1) wEer wrm () w=w

3) = “4)

99 In agriculture three Indo-Israe centres of excellence 4re at various stages
in Rjasthan for transfer and adaptation of Israel's technelogy in Rajasthan
and know how tg farmers. Which of the following’ is not covered ?

(I) Kota (for citrus fruit) (2) Bassi (for Pomegranate)

(3)  Jaisalmer (for dry dates) (4) “Jobner (for vegetables)

) wE (@ v @) & (e
B) Sawx (@R) 4 st (wfsstat)

100 IMR to Rajasthan in 201] v -
(1) 52 - 2) 60
G3) 62 @) 65
20’11#?%?131‘5@3@'(%8&—
(1) 52 (2) 60
(3) 62 (4) 65
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181 Transaction approach of quantity theory of money was given by :

(1)  Fisher (2) Keynes
(3)  Pigeu (4) Marshall
P atEm RrEwr & der efesn fred famr?
(1) TR = 2) & 3
() W @ wmf| =

102 When credit is to be expanded in the economy the central bank ?
(1) Buys securities in the open Market
(2)  Sells securities in the open Market
(3) Increases Bank rate

(4) Increases the cash'smesefve ratio

S g ¥ g @l R s @ @ Ry A
() & I whnfeat wa o ¥

2) QR @I ¥ wieiiat dom ¥

(3), §F =T w3

(@) e BT @ o 2

103 'Supply creates its own demand’ was said by -

(1) Adam Smith (2) Ricardo
(3) J. B. Say (4) Keynes
I = Al i s wRd ¥ wew &
(1) usAfms @ | 2) Tt @
G = A Fwm (4) B w1
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(1} reduce the rate of interest
(2)  increase investment
3)

increase in the level of employmeng

) have no impact o interest raje

T ST Bt Reyfy TR A Ry ehy
I = o 77 3 &

@ Tfrar ¥ o

Vestment are the function of
(1) income (2)  rate of interest
(3)  price (4) rate of inflation
%ﬁwﬁwﬁmﬁ%ﬁ%ﬁa%wéﬁ%?
(1) ey @ = W ey
G) @b ) =& @
106 Supose there IS new Investment of Rs. 10 Crores and the MPS is 0,2 the
aggregate income Increases by -

(1) Rs. sp crores

(2} Rs 3 crores
3) Rs 20 crores

(4) Rs. 10 Crores
WIOWWWW%@WWW%@TWH%WW
(MPS) 0.2 ¥ & 7oy ag s

(1) 50 sz v

) 5 B0 g2
G) 20 #de wqy

4 10 5= 93
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107 During stagflation -
(1) Only prices rise.
(2) Both prices and employment rige,
(3)  Prices rise but no increase in production and employmen;,

(4)  Prices rise without increase in money wages.

TR §

) 97 FF s

@ F T IR A oy

(3) wwaﬂrﬂwﬁq%%ﬁmaﬁnﬁaaﬁ%:
@ %'Hﬁr@ﬁqﬁg%aﬂra‘ﬂnﬁrw%l

108 What do You mean by statigticuf erTor 7
(1) it is related with calculation of data

(2) it is related with errors of origin

(3) it is related With errors of manipuiation

(4) it is.the difference between real value of data and approximate valve
of ‘data

mﬁmﬁaﬁw(ﬁ)ﬁmwmﬁm%?
(1) %Wmﬁwﬁuﬁ%
2 ﬂsajra’&-q‘fémﬁua%
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@) Tenancy reforms

(3} Provision of Hyy seeds

) Consolidation of holdings

Q) wrTerd gur
G) HYV §f BIEE 54

) Gmd
EASI A | 47
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112

In Mundell—FIemming model with flexible exchange rates the following
Statement is not trye -

(I) A Fiscal expansion leads to ap exchange rate appreciation,
(2)  Monetary policy has no effect op output.

(3)  Prices are fixed.

(1)  one individual cannot be made better off without making the other
worse off

(2)  the individuals are on their consumption contract curve,
(3) the individuals are on their utility possibility curve,

(4) &l of the above

EASI A} - 48 { Contd...




114

(1) Average weight of newly bomn babies.

(2) Opinion of voters immediately before general election.
(3)  Test of the quality of pressure cookers,

() Average life of electric light bulbs
ﬁﬁ%ﬁﬁé%@nﬁﬁﬁaﬁq@ﬁraﬂwﬂﬁ% P
() 7w fagel = ehwm e

@ T T Y B e B R

() W wHT W e

*) FEgd o @ s ong

Which of the following, is*tiot correct about the IS-LM model ?
(1) The LM curvé is positively sloped.

(2) The IS wurve is negatively sloped.

3) Expansionary monetary policy shifts the LM curve down ward.

(4)  Contractionary fiscal poficy shifis the IS curve to the righ.
q‘:%aIS-LM%m%ffﬁrsrff%ﬁwmmmaé’raﬁ%?

(1) M 3% viems o o @ &)

@) IS T Fonem o awn sy &

(3) famnmaﬁr&as:hﬁréwam%a?raﬂvﬁaﬁham% I
(4) émaﬂawmﬁﬁrﬁlsaﬁmﬁ:ﬁeﬁ?ﬁaﬁfaém%a
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315 According to Hockscher-Ohlin medel of International Vrads the comparatiy
advantage of a country versus another country is determined by

(1) Relative level of efficiency in production technology
(2) Relative difference in the import tariffs
(3) Relative abandance in factor endowment

(4) Relative effectiveness of mongtary and fiscal policies

Wﬁgﬁwwﬁﬁmﬂ—aﬁ%ﬁﬂfw%mméwmqﬁ%w
@ gEar ¥ geres @ el s b o

(1) S Todles ¥ wifde gwwar & emu T

(2) W sy H ante e

(3) dwerl  wfe sgem 3w

4) ﬁﬁaqﬁﬂm@ﬁu%ﬁfaﬁaﬁ%wwaﬂamm

116 Who was the first to, defife and estimate poverty in India ?

(1) B. S. Mirhas
(Z) V. K4R..V. Rao
(3) . Dandekar and Rath

(), D. R Gadgil
Wﬁﬁ%ﬂﬁﬂ#ﬁ%%ﬁa@mﬁﬁaﬁmﬁmi ?
() 9 um fem

@ FF aw A ww

(3) wEEy wd ™

4 = em. mefm
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" 117 One éf the key features of the Solow mode] 1S -
{1) technological level IS constant over time
(Z) savings rate changes overtime

(3) icreasing refums to scale

(#)  diminishing returns to scaje
H’!Fﬁ#iswa%’r%‘g@rrﬁw‘mm%—
() o3 % g9 awlte & Rery |
) w%mwwaw%ﬁam
3) SURT & Wed wRrew ¥ frepy
@) ST F wed wRew b g

18 Solow model and Harrod-Domar model have the common feature that -
(1) both models assume a fixed saving rate
(2) both are long ‘term model
(3)  bothare short term model
(4) both assumes similar returns to scale
mﬁﬁ@m——wmﬁwmhﬁww%~ﬁs~
(1) =¥ a‘aﬁ T R wrR
@ N At e 3
G) T ervmrae afew &

(8) W ¥ weneg ¥ e e 3
RAS: A} 5q { Contd...



18 I both e Sgression Coeflicients o

and b
f coetHeiens

the sign ¢ of conelanon -r - \M]

(1

have 4 egative sign L,
I be :

both positive and negative

(2) negative
(3)  positive

(4) indeterminaye

A T el TUE b

by T b, %Wﬁmﬁsmw%m
Hgmgrnf‘cs-r~@ﬁmmﬁm
(N aamasqammcrm}
o .
B3) N

@) srfrytroig

120 Environment ig 4 Public good 1hyt is -

1) Rival ang exchudable

2} Non-tival and nNon-excludabje
() _Rival’ ang hon-excludabie

(4)

on-rival and excludabie
D) vlvmdl o ey 3
& R oy W ey &
G whmedf o #; Fefdhy &
O T ol oy quy o
EAS1 A}
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1

Y fan be calied fearning so fy;
(1 gny respect ;

k2 "Any activi

as i devslops

a4l . ;. M
5 1ne mdividyg)
eyt - T, Dot iy gt i
I Y N 1'_'.-{,".-_.":_‘} D TN PRI L‘),GE- 16“085’
o .- B B e T N D 4 - P R R
wr \}fifeff:ii-'. ooty e e -"‘..’-“..1- iy ige i i ’_3‘31’.‘.‘55 . :E‘_ VLG saten Dj’ .
(1) Wt

[ . sr s
Airigisley

Gardner Mg iy

123 Which of the 6

e

B3vene gr NG wisenval facior for the cognitive
developraent o rais SO e ey

w S Fh e S BT cer e
{1} B R R I SO e

{Z) Combiaing

3) Si()}-:\_f_;-;iax.:z N

AL 1Y

§ Contd.



123

Educationg] Technology 111 Is also known as

(1) System analysijs

(33)  Software approach

(2)  Hardware approach
4)  None of these

T wE
(D) 7wl fRyyd @) T Sy
3) WY gy @ =7 3 Hig

(1) An (2, ‘Graphic
(3) Media (4)" Signs
ﬁ%ﬁ@ﬁa—m%ﬁmmaﬁ% P
(1) e @) witsg
(3) weg 4 ¥

adolescence ?

(1)  Active member of thejr peer group

(2) Aftraction towards opposite sex

(3)" High decrease in friendly relationship

4) Extension of special Interests

M ¥ @
T g 2

%ﬂ%&h@ﬁ%%ﬁ@ﬁfm
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(H Opening firgt psychological laboratory
(2) Working in the field of computers
(3) Propounding a theory of sociaj development

(4) Working on sigy learning theory
ﬁﬁ%ﬁﬁ%qguszfm%%:

(D %ﬁﬁamﬁmmsm@ﬁ%%q

) T B W wd v % g

(3) Wﬁaﬁmw%@aﬁﬁw&am%r%f&rq
(4) %@ﬁa@mwwmﬁ%m

“The advance Organizer teaching fhodef i designed to strengthen students
Cognitive Structures," It wag said by the developer of the mode], whose
name js :

(1) Walter Munroe

(2) David Asubel

3) G D Bogy ™

(4) I P Gulforg
“a&qammﬁrwﬁwﬁﬁvﬂfﬁﬁﬁmﬂmémeﬁaﬁ@
m%%g%ﬁm%mm%r”%mmﬁmﬁaﬁmmﬁmﬁw%,
Brrm g & .
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129

130

According to J. P Guilford learning is :

{I} Change in thinking (2) Creation of knowledge
(3) Gaining experience (4) Change in behavior
W N Pewd ¥ o, et b -

(L =" ¥ sfieds (2) s &1 "

(3) AWE W HE (4) =wER ¥ yigdsw

Which statement is not correct with referénce to day dreaming ?
(1} Day dreaming in its normal form is beneficial for adolescents.
{2) Tt helps in writing stories and poetry.

(3) It sometimes resultS into creative work.

(4) 1t is never harmfiil,
A HT Rarew b wod ¥ @l & o

(1) ﬁaﬁwmwmﬁﬁmﬁﬁ%mw%!
(2) @8 Falal ok sRmd fred ¥ 9w oww 3

(3) wmﬂﬂmﬁwmﬁfqﬁﬁaﬁmﬁ%r

4 = T A whmrs @ B

The term Educational Technology was used for the first time by :

(1)  Alexander (2) J. S. Ross
(3)  Brynmor (4) K. Mckinnon
A Tl d1 AT wdwem R Y e -

(1) TnEtsy 2) & w§ W
(3) W (4) % YwieiE
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131 For training a chilg teacher must check his / her

(1) Physical maturity (2) Menta Mmaturity
(3) Both (1) and (2) (4) None of these
aﬁ%ﬂr&w%ﬁm%&mﬁmw%ﬁamﬂﬁgwﬁr
() smifa aRgeeay

@) T (1) sk (2)

(2) =R fioeea
@) =™ ¥ famh @ Ty

132 Improper use of prize and punishment makeas learning

(1) Effective (2} "“More usefi]

(3)  Ineffective (4) Cannot Say anything

(1)  Mathematics and Physics (2) Physics and Engineering

3) Engineering and Education (4)  Education and Physics

ﬁmﬁaﬁﬂa&’rwaﬁw‘fﬁrf&ﬂ%gaﬁ:

(D o e iy (2) ARl ok dhfas
() FFEE s Py (4) T st ey
EASI A
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134 Learning of an individual takes place

(1)  upto childhood (2)  upto adolescence

()  upto adulthood (4) life long

Wa’rﬁﬁmﬁfﬁwﬁm%:

(1) <u97 3%

(3} veEeEr gw

(2} et oo
(4) ST g

135 Physical changes in a chilg affects-to\a large extent on his/her

(1) interests

(3) behavior (4)  ail the above

136 Which of the following is g negative emotion 9
(1) Joy (2) Anxiety
(3) Hope (4) Achievement

ﬁwfaﬁgaﬁ%ﬂ?—m%mﬁﬁn%?

(1) emee 2) R
(3) s 4) Sumley
EASL A ]
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137 According to a study done by K. McKinnon the children who adjust
themselves according to different and changing situations of society belong

to the :
(I) Withdrawl class (2) Evasive class
(3) Conforming class (4} Cautions class

%.ﬂmﬁm:rmaﬁw%qwaiwm%mﬁﬁa%mﬁﬁm
ﬁ%ﬁmquﬁﬁaﬁﬁ%wmﬁwmﬁﬁ%%%@aﬁ
4 ueftm @ ¥ -

(1) vEwmrR ) sl it

(3) orgETm 4 gEgrT T+t

138 Intelligence Quotient (IQ) is «calculated by the formula -

] mental age 1o ) _actual age 100
M actual age 2) mental age

mental agexactual age

() mental age x actual age 4

100
g&gaﬁa(ﬂg)ﬁwaﬁwqﬁ%:
EiEifon EILSIE e
M ———‘:ﬂ%x-mo @ :gxmo
AN 31 X JRaf
(3) Hﬁﬂqasangxmwﬁﬁm@ (4) arglzo Rl
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139 The IRCEOT winen brings Chanae iy FRavigs ggar HDetween Perman,

and teiporary,

) Moy

. \ g \‘-__.__‘“ A ) . - e -
{)‘_‘! _I?'.}h'{.umf‘(?.-l--' ol e

. - o — = P Y Wi S
HITE REL S S EEH S Hd S

148 Which of the following i ot a dired; oA o e fension and o
solve inper Confiiet

{1y chmving the harrjp:

{3) Sublimatiop {4} NI Anrcther goaf

Pl # BT e B OET gy AR ey R #Y g iy

-~

3

“ £
%I
~
B
e
8

wTE

it hprenng

181 Tbthe foig of educstion TS hporiani gy, o, thig Silowing s

-
—
P

Teachor 2) Legryer

(3} Teagy

EAsy 4 i 60 fUnared.,
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142 Which of the following is not a primary law of learning as described by

143

Thorndike in his book "BEducational Psychology” ?
(1) Law of Readiness 2}  Law of Multiple Response

(3) Law of Exercise {4) Law of Effect

ﬁqﬁiﬁaﬁéﬁh—weﬁmaﬁfﬁ:%ﬂﬁﬁ%@mﬁsmﬁaw%
W TEE THBIE wIzHw § G b p

(1) O = Prm (2) wguilsa & P

(3) o @ from (4) uwg @ Prmw

Which of the following siatement is not correCt concerning a teacher ?

(1) She / he should have an understanding of the nature of her / his

students.

(2) Psychology helps a_teaSher 10 understand the nature of her / his

students.
(3) Teacher should have no concern with the interests of the children.

(4) Psychology gives a treasure of facts and theories to a teacher.
Wﬁ?ﬂ%ﬁﬁdﬁaﬁmﬁrﬁ%ﬁﬁﬁaﬁw—mmwﬁﬂﬁ% ?
() 8 o Rrefal & wolr @ e o al

2) =k, e ey Profhd Tl & e ¥ g
Il 2

() P = == W e ¥ WY wimr W e M|

(@) wifasw, e @ sl et e @ TH WeTT SUN Sl 2
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144 In educationa] technology input is generally given by

(1) Teacher (2)  Student
(3) Computer (4)  Television
ﬁfﬁmﬂ%ﬂ‘qﬁﬁwlﬁnput) TR dr ¥
1y tes 2) i

3) F=Ey (@) Tefyem

145 The approach affecting learning related ‘to content is :

(I)  Presentation (2) Environmental
(3) Maturity (4) Form simple to difficult
IR Bl B amn Ry Y 9 Iy &

(1) wgehteszor @) vafazeig

G) iy @ @\ 5 g

146 _ A'child does multiplication and division after learning tables, This is an
example of learning displacement of the type :

(1)  Mental to physical (2)  Physical 1o physical

(3) Mental to menta] (4)  Physical to mentaj

(1) wfs ¥ siifs @) wriife ¥ mofes
(3) " § weRE (4) fw ¥ wefes
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147 Which of the following is not a psychologic factor of child crime 7

{13 Mental struggie {2}  Strong desire

{3} Politics (4) Thick-headedness

freafafeg & ¥ BT W IR H T AN B T E ?
(1) weke dud (2} UEA @l

() oo @ g

148 Which of the following is not an exampie of natural motivation ?

(1)  Thirst (2) Reputation

(3) Safety (4) Tunger

frafafgg ¥ ¥ @@ wigple sRmonw SEeer T8 ¥ 7
(1) ™ @) sy

(3) gy (4) @

149 The common goal of @ducation and psychology is :

{1} better education (2) study of behavior
(3) change_ in behavior (4) child development
e ol \HAREE w1 SwEhe wEE ¥
(1) I fen (2) TR @ AT
(3) =aElr ¥ uiEdq @) 9w THwE

150 Which of the following is not a field of educational psychology ?
(1) personal similarities - (2) evaluation
{3} preparation of syllabus (4) learning
frfatas § @ @A e FREE e @ T ¥ 7
{3} SAleRTE Eumad (2y S
{3y UTSEHA W E (4 @iy

EASE Al 63 { Contd...




oy : W !s -

SPACE FOR ROUGH WORK / &= =m % R e

EASL A1




SCHOOL LECTURER COMP EXAM 2013

03-03-2015

PAPER-II(Economics-51)

7
wis|mlofol—|afsfslx |[Slofsi|m|ssm|m|safm|m|afsio] ]| afols|a|dfols|a|ofoals|m| oo S]] ofofs jo]afofs]s|ofofn]a) s sfoa]n]afsfnjo]ofofc]ls |onfonfa]s |-
D_67890 o|lw|la|o|d|a|m|g|vn|o|[s|o|a|o||a|m||vn|o[s|o|a|o|—|a|o||vn|o|~
R L A R N L Y = B B B B A R N A = R S R A R e N Y Y = B N Y e T R N T =Y
rrj i [ sy s EA) RY RN R0 Y VT N NS RNl U RS R R0 RN R Ko ROl ol ) Rl S e 00 oo SC) 0 ool ) g ool R oM ReY Rl o -0 o o R=a R BSF e o) Bard Bard jac] Basd Baed joc] Basy Bard ad] Bash Sl Il Iif Il Il B Bl Il St Il 2] Ba ) ] Bac) By Ea ] Ea) B
n
© o R I N I R E R N R R N I N I R = B R B B A R R DY L Y E=1 B Y
o[~ o|-|la|mn|g|in|o|~N|o|a|o|d|a|m|s|v]o|s|o|a|o|d|a|o||wn|[o|~N|[o|a|o
- S|l-|an|on|s|in|o| N[0 I I I I I A R B B B B A B B A B R R T R T S R T S B R R R
$99991 Al A=A [ A ]|H|[S[o]o|o|O|ofolo|C|[O|RIN[N|N[NISNISINISIS 2212122122 (S 3 JSI3333(3T12919 9919991991299
@ N T R I N I R = R R G A T R N R L = B N R A A R DN e E=)
N T =1 T B B A e R N B Y B R B e R T R I T e Rl B A B A Eed B I e B R = B B T B R A B DN e B = A N B B R B N B B R P N N N R N N N R E R R MBI A I B R E
MR GG N R R R B N N R I R S R N R A R R R B B B B R o B R R R R B G R I B B A I BT B BB B B A A e It Bt ko) Ead By Ea) Bal Ea ) Kt Burd Kuid Raed Bard s Raed fasd adf Batd o
n
A_678901234567890123456789%MW%M%%W%W012345678901234567890123456789%“@%“%%“%@0
I I I B G I I R I T R R R T R T R T R T R B S R R B B S B R T n
G~ [~[N[N|®|o0]|o|o|o|w|w|o|o|o|da|afafofofofoa|a|Z|3|3|3|3|S|S|S|S|S Sl (Sf= <SS S S S S| S| S|SS|SSISSISSIS[SSSSSSS 2SS 3135135158
n
n
wlenftfenfctfenfrfrfovfstfonfeuftfenftffoftfenfeoifonftftfofeifonfafonfeavfeonfatfotftfs|tfevfstfonfst|tforftfslstfonfoftfonftfofs [ftfon|ftftfonfonfeovftftfonfefonfofovftfonfofetft|ife fonftfs
D_ dla|o|s|v|o|ln|o|o|o|—|~|o|<|wn
e N B A e N L e E =S B I R R P F N A el = R N B A P R I T e E = B B A B St Fea R D <l o =0 I P P ey (A I I I P = e BT B A e R N T Y B 1 R R T B S R S Y S 2 B2 o B e i
Elo|lo|o|o|o|o|o|O|o|R[~NN[NNINRIN|R[S|o| ||| || S| TS [D | |n|[w|d|n|v|n|n]|n]e R R R R E I B T I B E S E S S E S T b1 b= B b= b B
n
< dla|o|g|v|oln|o|o|o|—|a|o||in|o|[N|[o|a|o
I R R N I N = R N R B T R N T e R =) I R A e s e R = B N R R R R N N Y = R N R R A R N R Y E=1 B B A s i
Bl ||| | |v|in]|n|n|n|n|n|n|n|n|[e[SISSISS2212121T2 222222 22D~~~ NN S]] B ||| oo o] oo F|ofw|w|o|w|o|o|o|o|d|a|a|a|a|o
n
B_ o e N N L N I Y E R R S A R R N =Y R
dlalm|s|n]|o|n|o|a|o|d|a|m|st|un|o[n|o|a|S|z|x[m|s|v]le|n]|e|a|o|d|a]|o]|s|vn]|o|~o|ao2[SS(TS[SISISISISITII2NINI22[IZ S alalm|tlnlol~lo|lale|—|x]|o]|<]|n
m888888888999999999916666666667777777777811111111111111111111 g [y (R (R (ALY ek
<
L Y PR o e I T TN P Y Rt B ] ] e D R S T e B B BN el A R RS N T = R B I e B P R I A K B N B A A R I e Rl R R R S P R I et e e R N R P R N S R L R N R R
5 I I G R R I I R I I I R I R I R R I R R R R R N R N R B R B R R B R B R Bl I Y N R Bl S S s R R R R e R R R R Y N Y Y Y
n

NOTE : * MEAN DELETED



	Economics
	School lecturer 2013 - Economics



